Seat No.: Enrolment No.

DIPLOMA ENGINEERING — SEMESTER -VI « EXAMINATION — WINTER 2015

Subject Code: 3361302

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: ENVIRONMENTAL MONITORING

Time: 02:30 PM TO 05:00 PM

Instructions:
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Q.2
Y, 2

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten. £2HIl SlEURL Ulctoll cltot .
Define term: ‘Normal Solution’.

cUUARLA $2A: ‘A alanr.

Define term: ‘Molal solution’.

cUUARA 52 HAHA slaRl.

Define term: ‘Molar solution’.

VAR $A: AR alall.

Define term: ‘Equivalent Weight’.

cuAlRd 52A: ‘Bsydlde Ave’.

Define term: ‘Standard solution’

cUuARA 52 eiss alaw.

Define term: ‘Normality’.

cuARA 5 QAL

Write principle to measure Total Solid from the liquid sample.
wlell ot vt Hidl 2led Aells Wual Hiell Rrtid dull.
Define the term “Error”.

AR A 53 AR,

Write full form of ‘SPM” and ‘TSS’.

‘SPM’ Aol ‘TSS> WL ollH AW,

Define the term “Alkalinity”.

A RA 52 “AA AL
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State difference between ‘Determinate Error’ and ‘In- determinate Error’.
1) ‘RBedlale AR’ W ‘Bollde|Ae MR’ AR oll dslald Al

OR
(@) Write objectives of “Environmental Monitoring”

) AocaH2e Hlollelovatl & A cul.
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(b)  Write short note on “Labeling of container for samples”.
(W) 25 ol Avll: ‘RUAslL So2elr GUR Aul(dol.
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OR
Write short note on “Transportation of samples”.

&5 ol cull: “AIUA of 2R3t
Explain ‘Sampling time’.
QAo et [@QA AHsAl.
OR
Explain ‘Sampling location’.
QAruldal AZet’ (A AHsLAl.
Calculate Equivalent weight of following:
(i) CaSOa4 (i) NaOH .
( Atomic Weight: H=1,0=16, Ca=40,S=32,Na=23)
o{lAsll oll B53yAlce A2 A
(i) CaSOa4 (i) NaOH .
( Atomic Weight: H=1,0=16,Ca=40,5=32,Na=23)
OR
Calculate Equivalent weight of following:
(i) HCL (i) CaCOs.
( Atomic Weight: H=1,0=16, CL=35.5,Ca=40, C=12)
o{lAell oll BsyAlde Ase dlal:
(i) HCL (i) CaCOs.
( Atomic Weight: H=1,0=16, CL=35.5,Ca=40, C=12)
State principle of ‘Acidity’.
ARSIE ol Rgict umescl.

OR
How to preserve water sample? Explain in brief.

il ol atyolt ol ARl Fcll A saunl wa B2
Explain in brief about ‘Accuracy’.
AL (A gsHl vl
OR
Explain in brief about ‘Precision’.

‘Qlloset’ QA gsHi AWl
State advantages of C.O.D. test over B.O.D. test.

C.0.D. 2% oll $LAELB.O.D. 222 ofl ARutHRl Hi Q.

OR
Explain functions of Environmental Monitoring (any four).

AciNed HUAEL oll $59let AUl (SlBURL ALR).
Write application of ‘B.0O.D. data’.
‘oflL.Alsl. 32t ofl A[Adalot vl
OR
Differentiate between ‘Grab sample and Composite sample’.

dstadd AUWl: el AU Wl sLlLse XU,

Write procedure to measure Total Solid from the liquid sample.
el ot vt Hidl dled Aells Qual Hzell ugsld cdwl.
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Write calculation to measure Total Solid from the liquid sample.

ylell ot et Higdl ded Wells ual Hzell sl Al
State difference between ‘Primary Standard’ and ‘Secondary Standard’.
YLAHI] 2158 Wl ‘Asos3 05 AR oll dstalcd AWl

OR
Write procedure for ‘Biochemical Oxygen demand’.

‘GllRIA 5EA A SAxetofl R’ Hizell utuld cul.

Calculate the normality of HCL, if 14.60 grams of HCL is dissolved in one
liter of solution.

%l 1%.50 AUH HCL A (A2R ala@l Hi aduoel Hi 1A Al Qoll
AL 0.

Write short note on “Sources of Air Quality monitoring”.
AR sAAZ] Wolledlat ot AR (A &selled el

Write a brief note on: Frequency of sampling for Air quality monitoring.

AR sAAZ] Wolledlol MR decl UHAAR otyoll Aall Aol (A s

AUl

State principle of ‘Alkalinity’.

‘Al sAlall Rl AHALA.

Write Environmental Significant of ‘pH’.
‘pH’ of ualaRela Heccl AU,
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